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180101 to 180831 x,y platform rotations vs az for za= 1. to 2. deg
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180101 to 180831 x,y platform rotations vs az for za= 5. to 6. deg
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180101 to 180831 x,y platform rotations vs az for za= 9. to 10. deg
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180101 to 180831 x,y platform rotations vs az for za=13. to 14. deg
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rotateAboutY (North) axis

0.3
0.2
0.1
0.0F

Degrees

S
o

0.2
03E

0 100 200 300
Azimuth [degd]
Fit:y=c0+c1*sin(az-c2)+c3*sin(2az-c4)
za=14.10 15. deg

0.3
0.2

o
j—y

0.0

Degrees

S b
N -
T

03E

0 100 200 300
Azimuth [degd]

za=15.10 16. deg

Degrees

0 100 200 300
Azimuth [degd]

za=16.10 17. deg

o
-

Degrees

0 100 200 300
Azimuth [degd]



180101 to 180831 x,y platform rotations vs az for za=17. to 18. deg
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